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H = 3.400 m

t = 0.400 m
Ft = 0.600 m
bl = 0.600 m
b2 = 3.200 m

_KN/m2
L = 1.000 m
q = 10.00 kKN/m2
) 2.350 m
) [[To8s0]
@ = 3000 =
(@ = 2657 <)
= 0.00 =
O = 0.00 =
o) 30
o 10



:999999)

yi=
(p:

M=
tanB) =
Df* =

—~

(Hb/ V=

245 kN/m2
19.0 kN/m2

300 =
2.0

20.0 kN/m3
45.0
0.577

0.600 m

10

10

20.0 kN/m3
10 m




FA = 15

QA= 200 kN/m2
QA' = 300 kN/m2
’ = 10.0 cm
’ = 11.0 cm
= 11.0 cm
ock = 23.50 N/mm2

SD345

- [780 n/mm2

(o)
o = 160.00 N/mm2
T

- [0 n/mm2




4-1-1
4-1-2
4-1-3

5-1-1
5-1-2



6-1-1

6-1-2
6-1-3

6-2-1

6-2-2
6-2-3



10.0 cm
) 11.0 cm
) 11.0 cm
ock =
oca 7.80 N/mm2
osa 160 N/mm2
Ta 0.38 N/mm2

yCc = 245 kKN/m3
ys = 190 kN/m3
q = 10.0 kN/m2
g = 2350 m
Wg = 0850 m
23.50 N/mm2
SD345
vyl = 200 kN/m3
@ = 450 =
tanB = 0577
Dff = 0.600 m
Y2 = 200 kN/m3
Df = 1.000 m









4-1

4-1-1
(m) (m) (m) A (kN) (m) (m) | (kN-m) | (kN m)
0400 * 3.400 * 1000 * 245 33320/ 0800 2300 26656  76.636
4200 * 0.600 * 1000 * 245 61740/ 2100 0300 129654 18522
> 95.060 156.310|  95.158
Ncv = 95.060 kN
X=X = 1.644 m
y=> = 1.001 m
(m) (m) (m) yc | sikN) | (m) (m | (kN-m) | (kN m)
3200 * 1600 / 2 * 1000 * 190 48640 3133 4533] 152389 220.485
3200 * 3.400 * 1000 * 190 | 206720 2600[ 2300 537.472| 475.456
> 255.360 689.861| 695941

Nsl = 255.360 kN

2702 m




4-1-2

( ) g= 2350 m
( ) Wg = 0850 m
L = 1000 m
g = 100 kN/m2
Q=qg*Wg*L = 8.500 kN
X= -1/2*Wq = 3775m
4-1-3
¢ = 30.00
o = 2657
= 000
= 0.00
Sl= 30
2= 10
P oA
P o =
P A = 343
A = cos2 (p-O) = 0750
B = cos™2 (©) * cos (B+d1) = 0.866
C =sin (+d1) * sin (p-A) = 0052
D = cos (B+d1) cos (B-a) = 0775
Kal=A*1/{B*(1+~/(C*1/D)}?2 = 0546
A =cos"2 (¢p-1i) = 0750
B=cos™ (i)*cos(i+td2) = 0985
C =sin (+d2) * sin (¢p-A) = 0038
D=cos(i+d2)cos (i-A) = 0.881

Ka2=A*1/{B*(1+~/(C*1/D)}2 = 0522



q = 10.0 kN/m2
( ) al= 0546

H = 5.600 m
( ) S1= 30
L = 1.000 m
h =gqg*Kal*H*cos(d +i)*L = 26.480 kN
v==g*Kal*H*sin(d+i)*L = 15.288 kN
= 4200 m
X =
Y =1/2* = 2800 m
( ) Yvs = 190 kN/m3
( ) Kal = 0.546
H1 = + +
= 0600 + 3400 + 3200 * 0500 = 5.600 m
L = 1000 m
( ) S1 = 30
pl=wys*Kal*H1*L =  58.094 kN/m
Phl=1/2 * pl * H1 * cos(d1+1i) = 140.870 kN
Pvl=1/2*pl * Hl *sin(d1+1i) = 81332 kN
X = = 4200 m
Y = *1/3 = 1867 m



4-2

(kN) X(m) X(kN m)
95.060 1.644 156.279
255.360 2.702 689.983
8.500 3.775 32.088
15.288 4.200 64.210
81.332 4.200 341.594
455.540 1284.154
()

(kN) Y(m) Y(kN m)
26.480 2.800 74.144
140.870 1.867 263.004
167.350 337.148




1/6 * B

X=( X- Y)/
2079 m

B/2-X
0.021 m

1/6 *B =
-1/6*B =

c (kH/m2)

TAN(B) = 0577

SF={C*Ae+
= 1571

1/6 * B
Q1
Q2

QA=

/B*L)*(1+6*
/B*L)*(1-6*

0.700 m
-0.700 m

= 455540 kN
= 167.350 kN

* TAN (pB) } /

15

455540 kN
4200 m

-
11

1.000 m

/B)
/B)

200 kN/m2

455540 kN

1284.154 kN m

337.148 kN m
4200 m

111.716 kN/m2
105.208 kN/m2



Qu=Ae* (X *K*C*Nc+K*q*Ng+1/2*y1*[B*Be*Nr)

QA=Qu/a
Qu (kN)
c =
q (kN/m2)
q=Yy?2*Df = 20.000 kN/m2
AV = 20.0 kN/m2
Y2 . = 20.0 kN/m2
Ae . (m2)
Be (m)
Be=B-2*e
B (m)
; m
Df (m) = 1.000m
o3
o = 1.0
B-= 1.0
K
K=1+0.3*Df/Be
DF' (m) = 0.600 m
NCNQNG :
a = 3
tan©® :
tan® = B/
(kN) 4-2

B .: (kN) 4-2



Be =B-2*e

B B = 4200 m
= 0021 m
= 4200 - 2 * 0021 = 4158 m
Ae =Be*L
L = 1000 m
= 4,158 * 1.000 = 4158 m2
K = 1+03*Df/Be
=1+ 03* 0600/ 4158 = 1.043
tan®= B/ = 0367
(kN)
(4-2-1 ) = 455540 kN
B (kN)
(4-2-1 ) = 167.350 kN
Ng = 500 ( q )
Nr = 400 ( \V4 )
Qu = 112524 kN
Qa = 37508 kN = 455,540 kN
4-4
(m)
(m) (kN/m2) (kN)
CASE -1 0.021 1571 1117 4555
0.700 15 200.0 3750.8




5-1

5-1-1
(m) (m) (m) Y c(m2) (m) (kN_m)
0400 * 3.400 * 1000 * 245 33.320 1.700 56.644
33.320 56.644
cv= 33320 kN
y=> > c = 1700 m
5-1-2
(
)
a2 0.522
(
g = 100 kN/m2
( ) a2= 0522
H = 3400m
( ) 2= 10
= 000
L = 1000m

17.478 kN

h =q*Ka2*H*cos(d2+i)*L

y=1/2* 1.700 m




( ) Ys = 19.0 kN/m3
( ) a2 = 0522
H1 = 3400m
L = 1000m
( ) 2 = 10
= 000
pl=vys*Ka2*Hl*L = 33.721 kN/m
Pl =1/2*pl*Hl *cos(D2+i) = 56.455 kN
y =1/3* = 1133 m
5-2
(kN) Y(m) Y(kN m)
17.478 1.700 29.713
56.455 1.133 63.964
73.933 93.677
M = 93.677 kN m



5-3

D22

93.677
73.933

100.0
400
30.0
10.0

57
117
0.2

kKN m
kN

cm
cm
cm
cm

N/cm
N/cm
N/cm

30.968 cm
(oca-= 78 N/cm)
(osa= 160 N/cm)

(Ta = 0.38 N/cm)



6-1

6-1-1

4-2

1= 111716 kN/m2

105.208 kN/m2
4200 m
1= 0600m

2=ql-(ql-¢2)/B*bl 110.786 kN/m2

1=1/72*(ql+q2')*bl 66.751 kN

0.300 m

>
1"

YyC = 245 kN/m3
1= 0600 m

0.600 m

1.000 m

|
11

=bl*Ft*wyc*L 8.820 kN

X =1/2* (bl) 0.300 m



6-1-2

6-1-3

S(kN) X(m) MX(KN m)
-66.751 0.300 -20.025
8.820 0.300 2.646
-57.931 -17.379
M -17.379 kN m
S -57.931 kN
M = 17379 kN m
B = 100.0 cm
H = 60.0 cm
D = 490 cm
D' = 110 cm
D16 4 = 7944 cm
oc= 0.78 N/cm (oca-= 78 N/cm )
os = 48 N/cm (osa= 160 N/cm )
S = 57.931 kN
M = 17379 kN.m
B = 100 cm
H = 60 cm
D = 49 cm
D' = 11 cm
tan(©)= 0.000
SH=S-M/D*tan(O) = 57.931 kN
T=SH/(B*D) = 0.118 N/mm2
(Ta= 0.38 N/cm)




6-2
6-2-1

X

1= 111.716 kN/m2

2= 105208 kN/m2
= 4.200 m

1= 3.200 m

2=092+(ql-92)/B*Dbl

1=1/72*%(q2+q2')*bl

YC = 245 kN/m3
b2 = 3200 m

= 0.600 m
L = 1000 m

=b2 * Ft * yc * L

=1/2* (b2)

110.166 kN/m2

344.598 kN

1588 m

47.040 kN

1.600 m



( ) Yys = 190 kN/m3
(m) (m) L(m) kN/m3 (kN) (m) (kN m)
3200 * 1600 / 2 * 1000 * 19.0 48.640 2.133| 103.749
3200 * 3.400 * 1000 * 190 206.720 1.600| 330.752
255.360 434,501
= 255.360 kN
X== > = 1702m
( ) q =
( ) Wg =
L = 1000m
g = 100 kN/m2
Qq=q*Wg*L = 8500 kN
X =Lq+1/2*Wq = 2775 m
PV1= 81332 kN
X = = 3200 m



6-2-2

S(kN) X(m) MX(kN m)
-344,598 1.588 -547.222
47.040 1.600 75.264
255.360 1.702 434.623
8.500 2.775 23588
81.332 3.200 260.262
47.634 246,515

M= 246515 kN m
S= 47.634 kN




6-2-3

M =

<
1"

93.677 kN m

<
1"

93.677 kN m

D 22

SH=S-M/D*tan(®) =
T=SH/(B*D) =

246.515

100
60
49
11

25
69.9

47.634
246.515

100
60

49

11
0.000

47.634
0.097

kKN m

cm
cm
cm
cm

30.968 cm

N/cm (oca= 7.8
N/cm (osa= 160

kN
kN.m

cm
cm
cm
cm

kN
N/mm2 (Tta= 0.38

N/cm )
N/cm )

N/mm2)



kKN m 93.677 17.379 93.677

kN 73.933| ( ) ( )

cm 100.0 100.0 100.0

cm 40.0 60.0 60.0

cm 10.0 11.0 11.0

mm 22 8.00 16 4.00D0 22 8.00

cm2 30.97 7.94 30.97
0.0103 0.0016 0.0063

o |N/mm2| OK 5.7 OK 0.8 OK 2.5
o |N/mm2| OK 117 OK 48 OK 70
T |N/mm2| OK 0.25 OK 0.12 OK 0.10
o] N/mm2 7.8 7.8 7.8
o) N/mm2 160 160 160
T | N/mm2 0.38 0.38 0.38
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